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INDIAN SIGN LANGUAGE RESEARCH AND TRAINING CENTER 

Department of Empowerment of Person with Disabilities 

Under Ministry of Social Justice and Empowerment, Govt. of India New Delhi-20 

Examination:  Final Examination November 2023 

Diploma in Teaching Indian Sign Language (DTISL) 

Course: DTISL          Time: 2 Hours 

Title of the Paper & Code: ISL Linguistics (DTISL T3)                                   
बायतीम साॊकेततक बाषा बाषाशास्त्र                  Max Marks: 60

                                            

        

ISL Translation Link: 

https://drive.google.com/drive/folders/1N4klbAoHwpnsW3DyAlVbj04dbV24Owsy?usp

=sharing  

Instructions: There are total 60 objective questions. Answer all questions.  

Part A: True or False (15 × 1 mark = 15 marks) 

Mark true or false. Answer all 15 questions. 

1. In ISL, the word order is rigid. (True/False) 

आईएसएर भें, शब्द क्रभ कठोय है।(सही/गरत) 

2. ISL does not have any borrowed words. (True/False) 

आईएसएर के ऩास कोई उधाय लरमा हुआ शब्द नहीॊ है।(सही/गरत) 

3. Deaf who acquire sign language at an early age are more proficient than those who 

acquire it later in life. (True/False) 

जो फधधय कभ उम्र भें साॊकेततक बाषा सीख रेते हैं, व ेउन रोगों की तुरना भें अधधक कुशर होते हैं 
जो इसे फाद भें जीवन भें सीख रेते हैं।(सही/गरत) 
 

4. In syntax we study the structure of sentences  (True/False) 

सॊयचना ववऻान भें हभ वाक्मों की सॊयचना का अध्ममन कयते हैं | (सही/गरत) 
 

5. In ISL’s timeline, the past is represented behind the body. (True/False) 

आईएसएर की टाइभराइन भें, अतीत को शयीय के ऩीछे दशाामा जाता है।(सही/गरत) 
 

6. All languages have a written form. (True/False) 

सबी बाषाओॊ का एक लरखखत रूऩ होता है।(सही/गरत) 
 

7. In the brain, language is located mostly in the right hemisphere. (True/False) 

आईएसएर भें, WEEK का धचह्न एक फाध्म रूवऩभ है।(सही/गरत) 

https://drive.google.com/drive/folders/1N4klbAoHwpnsW3DyAlVbj04dbV24Owsy?usp=sharing
https://drive.google.com/drive/folders/1N4klbAoHwpnsW3DyAlVbj04dbV24Owsy?usp=sharing
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8. In ISL, the sign for WEEK is a bound morpheme. (True/False) 

आईएसएर भें, WEEK का धचह्न एक फाध्म रूवऩभ है।(सही/गरत) 
9. The language acquisition process is the same in both spoken languages and sign 

languages. (True/False) 

बाषा अधधग्रहण की प्रक्रक्रमा फोरी जाने वारी बाषाओॊ औय साॊकेततक बाषाओॊ दोनों भें सभान 

है।(सही/गरत) 
 

10. A subject and a predicate together is called a clause. (True/False) 

कताा औय ववधेम को लभराकय उऩवाक्म कहा जाता है ।(सही/गरत) 
 

11. Semantic is the study of meaning of word and sentences. (True/False) 

अथा ववऻान भें हभ शब्दों औय वाक्मों के अथा का अध्ममन है | (सही/गरत) 
 

12. To acquire a language, children need exposure to the language. (True/False) 

क्रकसी बाषा को सीखने के लरए फच्चों को उस बाषा स े ऩरयधचत होने की आवश्मकता होती 
है।(सही/गरत) 
 

13. The ISL sign TABLE is not arbitrary. (True/False) 

आईएसएर साइन टेफर भें स्त्वछॊदता नही है।(सही/गरत) 
 

14. In ISL, the non-manual expressions in a polar question and in a content question are 

different.  (True/False) 

आईएसएर भें, ऩोरय प्रश्न औय कॊ टेंट प्रश्न भें गैय-भैन्मुअर अलबव्मक्क्तमाॉ लबन्न होती 
हैं।(सही/गरत) 
 

15. We use different vocabulary and grammar in formal situations and in informal situations. 

(True/False) 

हभ औऩचारयक क्स्त्थततमों औय अनौऩचारयक क्स्त्थततमों भें अरग-अरग शब्दावरी औय व्माकयण 

का उऩमोग कयते हैं।(सही/गरत) 

Part B: Multiple Choice Questions (35 × 1 mark = 35 marks) 

भाग बी: बहुविकल्पीय प्रश्न (35 × 1 अकं = 35 अकं) 

Select the correct or most appropriate option. There is only one correct answer. Answer all 

questions.  

सही या सिााधिक उपयुक्त विकल्प का चयन करें। केिऱ एक ही सही उत्तर है. सभी प्रश्नों के उत्तर दें. 

16. How many phonological parameters are there in ISL? 

(a) 3     (b) 4     (c) 5     (d) 6 

आईएसएर भें क्रकतने ध्वन्मात्भक ऩैयाभीटय हैं ? 

(ए) 3            (फी) 4           (सी) 5          (डी) 6 

17. The location of the sign ENJOY is: 
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(a) HEAD     (b) BODY    (c) NEUTRAL SPACE     (d) EYES 

आनॊद सॊकेत का स्त्थान है: 

(ए) लसय           (फी) शयीय         (सी) तटस्त्थ स्त्थान          (डी) आॊखें 

18. Questions in which the answer is ‘yes’ or ‘no’ are called __________ questions. 

(a) simple     (b) complex     (c) content      (d) polar 

वे प्रश्न क्जनका उत्तय 'हाॉ' मा 'नहीॊ' है, __________ प्रश्न कहराते हैं। 
(ए) सयर     (फी) जटटर     (सी) साभग्री     (डी) ध्रवुीम 

19. Words with opposite meaning are called __________.  

(a) homonyms    (b) antonyms     (c) synonyms      (d) none of the above  

ववऩयीत अथा वारे शब्दों को __________ कहा जाता है। 
(ए) सभानाथी शब्द   (फी) ववरोभ शब्द   (सी) सभानाथी शब्द (डी) उऩयोक्त भें से कोई नहीॊ 

20. What is the handshape of the sign DOUBT?  

(a)      (b)     (c)     (d)           

सॊदेह सॊकेत का हाथ का आकाय क्मा है? 

(a)      (b)     (c)     (d)           

21. In the brain, the area responsible for language comprehension is called __________.  

(a) Broca’s Area  (b) Wernicke’s Area  (c) Broca’s Aphasia  (d) Wernicke’s Aphasia 

भक्स्त्तष्क भें, बाषा की सभझ के लरए क्जम्भेदाय ऺेर को __________ कहा जाता है। 
(ए) ब्रोका ऺेर   ( फी) वतनाक का ऺेर   (सी) ब्रोका का वाचाघात   (डी) वतनाक का वाचाघात 

22. In ISL, the sign GOLD can be applied to mean ‘something very valuable’. Therefore, the 

sign GOLD can be called a __________. 

(a) synonym     (b) homonym     (c) polysemous     (d) metaphor 

आईएसएर भें, सोने का सॊकेत 'फहुत भूल्मवान चीज़' के अथा भें रगामा जा सकता है। इसलरए, 

सोने के सॊकेत को __________ कहा जा सकता है। 
(ए) ऩमाामवाची        (फी) सभानाथी       (सी) फहुवचन         (डी) रूऩक 

 

23. In ISL, the verb WALK is a __________ verb.  

(a) plain     (b) agreement     (c) locative     (d) none of the above 

ISL भें, क्रक्रमा WALK एक __________ क्रक्रमा है। 
(ए) सादा          (फी) सभझौता         (सी) स्त्थान       (डी) उऩयोक्त भें स ेकोई नहीॊ 

24. The facing of the palm or direction of fingers in a sign is called __________. 

(a) handshape   (b) orientation   (c) movement    (d) none of the above 

क्रकसी सॊकेत भें हथेरी की टदशा मा अॊगुलरमों की टदशा को __________ कहा जाता है। 
(ए) हाथ का आकाय     (फी) अलबववन्मास       (सी)  गततववधध       (डी) उऩयोक्त भें स ेकोई नहीॊ 

https://dict.hinkhoj.com/%E0%A4%97%E0%A4%A4%E0%A4%BF%E0%A4%B5%E0%A4%BF%E0%A4%A7%E0%A4%BF-meaning-in-english.words
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25. In ISL, CAR and DRIVE are examples of:  

(a) synonyms     (b) homonyms     (c) polysemous     (d) metaphor 

आईएसएर भें, काय औय ड्राइव इसके उदाहयण हैं: 
(ए) ऩमाामवाची    (फी) सभानाथी    (सी) फहुवचन     (डी) रूऩक 

26. If a person knows two languages, it is called __________.   

(a) borrowing     (b) bilingualism   (c) transfer    (d) none of the above 

मटद कोई व्मक्क्त दो बाषाएॉ जानता है, तो उसे __________ कहा जाता है। 
(ए) उधाय रेना    (फी) द्ववबाषावाद    (सी) स्त्थानाॊतयण   (डी) उऩयोक्त भें स ेकोई नहीॊ 

27. International Sign is used to communicate in situations where deaf people have different 

native sign languages. Therefore, International Sign is referred to as a __________.  

(a) borrowing     (b) lingua franca    (c) village sign language    (d) language shift 

इॊटयनेशनर साइन का उऩमोग उन क्स्त्थततमों भें सॊचाय कयने के लरए क्रकमा जाता है जहाॊ फधधय 

रोगों की भूर साॊकेततक बाषाएॊ अरग-अरग होती हैं। इसलरए, अॊतयााष्रीम सॊकेत को 
__________ कहा जाता है। 
(ए) उधाय रेना       (फी) लरॊगुआ फ़्रैं का     (सी) गाॊव की साॊकेततक बाषा        (डी) बाषा स्त्थानाॊतयण 

28. Damage to Broca’s Area can result in a language disorder known as __________.  

(a) Broca’s Area  (b) Wernicke’s Area  (c) Broca’s Aphasia  (d) Wernicke’s Aphasia 

ब्रोका ऺेर के ऺततग्रस्त्त होने से बाषा ववकाय हो सकता है क्जसे __________ कहा जाता है। 
(ए) ब्रोका ऺेर         (फी) वतनाक का ऺेर       (सी) ब्रोका का वाचाघात       (डी) वतनाक का वाचाघात 

29. When a language does not exist anymore, it is called: 

(a) borrowing     (b) lingua franca    (c) language death    (d) language shift 

जफ कोई बाषा अक्स्त्तत्व भें नहीॊ यहती, तो उसे कहा जाता है: 

(ए) उधाय रेना     (फी) बाषाई बाषा       (सी) बाषा की भतृ्मु          (डी) बाषा ऩरयवतान 

30. Deaf individuals who are NOT exposed to sign language are called __________ signers.  

(a) late     (b) early     (c) home     (d) native 

फधधय व्मक्क्त जो साॊकेततक बाषा से ऩरयधचत नहीॊ हैं, उन्हें __________ सॊकेतकताा  कहा जाता 
है। 
(ए) देय से           (फी) जल्दी            (सी) घय             (डी) भूर तनवासी 

31. Alipur Sign Language is an example of: 

(a) language death    (b) village sign language    (c) code-switching    (d) lingua franca 

अरीऩुय साॊकेततक बाषा इसका उदाहयण है: 

(ए) बाषा की भतृ्मु       (फी) गाॊव की साॊकेततक बाषा     (सी) कोड-क्स्त्वधचॊग      (डी) लरॊगुआ फ़्रैं का 

32. In ISL, the verb ASK is a __________ verb.  

(a) plain     (b) agreement     (c) locative     (d) none of the above 

ISL भें, क्रक्रमा ASK एक __________ क्रक्रमा है। 
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(ए) सादा          (फी) सभझौता          (सी) स्त्थान           (डी) उऩयोक्त भें से कोई नहीॊ 

33. The sign of the word MONDAY varies in Delhi, Mumbai and Hyderabad. This is referred 

to as __________ variation. 

(a) phonological    (b) syntactic     (c) lexical     (d) morphological 

सोभवाय शब्द का सॊकेत टदल्री, भुॊफई औय हैदयाफाद भें अरग-अरग है। इसे __________ 

लबन्नता कहा जाता है। 
(ए) ध्वन्मात्भक         (फी) वाक्मात्भक        (सी) शाक्ब्दक            (डी) रूऩात्भक 

34. Which of the following factors can cause variation in a language?  

(a) region    (b) gender    (c) educational background    (d) all of the above  

तनम्नलरखखत भें से कौन सा कायक क्रकसी बाषा भें लबन्नता ऩैदा कय सकता है? 

(ए) ऺेर                (फी) लरॊग             (सी) शैक्षऺक ऩषृ्ठबूलभ            (डी) उऩयोक्त सबी 

35. Using a sign language and a spoken language at the same time is called: 

(a) code-mixing   (b) code-blending   (c) code-switching    (d) none of the above 

एक ही सभम भें साॊकेततक बाषा औय फोरी जाने वारी बाषा का उऩमोग कयना कहराता है: 

(ए) कोड-लभश्रण        (फी) कोड-लभश्रण       (सी) कोड-क्स्त्वधचॊग        (डी) उऩयोक्त भें से कोई नहीॊ 

36. The below ISL sentence is what type of sentence? 

                 MOTHER  VEGETABLES  BUY 

(a) simple     (b) compound     (c) complex     (d) conditional 

नीच ेटदमा गमा ISL वाक्म क्रकस प्रकाय का वाक्म है? 

                 भाॉ सक्ब्जमाॉ खयीदें 
(ए) सयर           (फी) मौधगक        (सी) जटटर          (डी) सशता 

37. Which is the subject in the following ISL sentence?  

             CHILDREN SLEEP  

(a) CHILDREN     (b) SLEEP     (c) CHILDREN SLEEP     

(d) There is no subject.  

तनम्नलरखखत आईएसएर वाक्म भें कौन सा ववषम है? 

फच्च ेसोते हैं 
(ए) फच्च े         (फी) सोएॊ          (सी) फच्च ेसोएॊ          (डी) कोई ववषम नहीॊ है। 
 

38. A variation in the handshape of a sign would be called __________ variation.  

(a) phonological    (b) syntactic     (c) lexical     (d) morphological  

क्रकसी धचह्न के हाथ के आकाय भें लबन्नता को __________ लबन्नता कहा जाएगा। 
(ए) ध्वन्मात्भक       (फी) वाक्मात्भक       (सी) शाक्ब्दक      (डी) रूऩात्भक 

39. Which of the following is an example of a negative sentence? 

(a) TODAY EXAM HAVE                       (b) TODAY EXAM NOT      

(c) TODAY EXAM TIME+WHAT          (d) none of the above 
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तनम्नलरखखत भें से कौन सा नकायात्भक वाक्म का उदाहयण है? 

(ए) आज ऩयीऺा है                                 (फी) आज ऩयीऺा नहीॊ है 

(सी) आज ऩयीऺा का सभम+क्मा              (डी) उऩयोक्त भें से कोई नहीॊ 

40. Which of these signs is iconic? 

(a) MEANING     (b) BUSY     (c) HAPPEN     (d) STUDY 

इनभें से कौन सा सॊकेत प्रततक्ष्ठत है? 

(ए) अथा           (फी) व्मस्त्त        (सी) घटटत          (डी) अध्ममन 

41. Who did the first research on ISL in the 1970s?  

(a) Madan Vasistha and colleagues     (b) Ulrike Zeshan     (c) Sibaji Panda      

(d) Sunil Sahasrabudhe 

1970 के दशक भें ISL ऩय ऩहरा शोध क्रकसने क्रकमा था? 

(ए) भदन वलशष्ठ औय सहकभी                         (फी) उररयके ज़ेशान  

(सी) लसफाजी ऩाॊडा                                          (डी) सुनीर सहस्रफुद्धे 

 

42. The sign RESPECT is a __________ sign.  

(a) compound     (b) initialized     (c) fingerspelled     (d) incorporation 

सम्भान सॊकेत एक __________ सॊकेत है। 
(ए) मौधगक                  (फी) प्रायॊलबक             (सी) क्रपॊ गयस्त्ऩेल्ड              (डी) तनगभन 

43. In the signs LIKE and INTERPRET, which phonological parameter is the same? 

(a) handshape     (b) location     (c) movement     (d) none of these 

LIKE औय INTERPRET सॊकेतों भें कौन सा ध्वन्मात्भक ऩैयाभीटय सभान है? 

(ए) हाथ का आकाय           (फी) स्त्थान          (सी) सॊचरन           (डी) इनभें स ेकोई नहीॊ 

44. The sign ZOO is a __________ sign.  

(a) compound     (b) initialized     (c) fingerspelled     (d) incorporation 

धचड़िमाघय सॊकेत एक __________ सॊकेत है। 
(ए) मौधगक           (फी) प्रायॊलबक            (सी) क्रपॊ गयस्त्ऩेल्ड               (डी) तनगभन 

45. What type of sentence is the following? 

                     YOU GO PLACE+WHAT  

(a) compound sentence    (b) polar question    (c) content question    (d) none of the above 

तनम्नलरखखत क्रकस प्रकाय का वाक्म है? 

आऩ जगह ऩय जाएॊ+क्मा 
(ए) लभधश्रत वाक्म      (फी) ऩोरय प्रश्न     (सी) कॊ टेंट प्रश्न       (डी) उऩयोक्त भें से कोई नहीॊ 
 

46. In pragmatics, which of the following is important to understand meaning? 

(a) physical context     (b) cultural norms     (c) social context     (d) all of the above 

व्मावहारयकता भें, अथा सभझने के लरए तनम्नलरखखत भें से क्मा भहत्वऩूणा है? 
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(ए) बौततक सॊदबा      (फी) साॊस्त्कृततक भानदॊड     (सी) साभाक्जक सॊदबा        (डी) उऩयोक्त सबी 

47. In ISL, which of the following classifiers can be used for flat surfaces, example, books? 

(a)      (b)     (c)     (d)           

आईएसएर भें, तनम्नलरखखत भें से क्रकस क्रालसपामय का उऩमोग सऩाट सतहों, उदाहयण के लरए, 

क्रकताफों के लरए क्रकमा जा सकता है? 

(a)      (b)     (c)     (d)           
 

48.  Which of the following features is important for storytelling in sign languages?  

(a) role shift   (b) use of classifiers   (c) visual and spatial details   (d) all of the above 

साॊकेततक बाषाओॊ भें कहानी कहने के लरए तनम्नलरखखत भें से कौन सी ववशषेता भहत्वऩूणा है? 

(ए) बूलभका ऩरयवतान                               (फी) क्रालसपामय का उऩमोग  

(सी) दृश्म औय स्त्थातनक वववयण               (डी) उऩयोक्त सबी 
 

49. Which of the following word orders is correct for ISL? (Note: NEG means negative sign 

and Wh means Wh-question word). 

 (a) SOV-NEG-WH     (b) SVO-NEG-WH   (c) Wh-SOV-NEG    (d) Wh-NEG-SOV 

तनम्नलरखखत भें से कौन सा शब्द क्रभ आईएसएर के लरए सही है? (नोट: NEG का अथा है 

नकायात्भक धचह्न औय Wh का अथा है Wh -प्रश्न शब्द)। 
(ए) एसओवी-नेगेटटव-डब्ल्मूएच    (फी) एसवीओ-नेगेटटव-डब्ल्मूएच                                       

(सी) डब्ल्मूएच -एसओवी-एनईजी                   (डी) डब्ल्मूएच -एनईजी-एसओवी 
 

50. …………… is the scientific study of language.  

(a) Sociology     (b) Psychology      (c) linguistics    (d) none of the options given.  

…………… बाषा का वैऻाननक अध्ममन है।  

(ए)सभाजशास्त्र                               (फी)भनोववऻान 

(सी)  बाषा ववऻान                         (डी)  टदए गए ववकल्ऩों भें से कोई बी नहीॊ 
 

Part C: Fill in the Blank Questions (10 × 1 mark = 10 marks) 

भाग सी: ररक्त प्रश्न भरें (10 × 1 अकं = 10 अकं) 

Select the correct answer to fill in the blank. Answer all questions.  

रयक्त स्त्थान को बयने के लरए सही उत्तय का चमन कयें। सबी प्रश्नों के उत्तय दें. 

51. A __________ depicts the conceptualization of time in a language/culture. (space / 

timeline) 

एक __________ क्रकसी बाषा/सॊस्त्कृतत भें सभम की सॊकल्ऩना को दशााता है। (स्त्थान/सभमयेखा) 

52. Questions made with the sign WHAT in ISL are __________ questions. (polar / content) 
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ISL भें WHAT सॊकेत से फने प्रश्न __________ प्रश्न होते हैं। (ऩोरय /कॊ टेंट) 

53. The time period from birth until age of 5 years during which language can be acquired 

easily is called __________. (language acquisition / critical period) 

जन्भ से रेकय 5 वषा की आम ुतक की सभमावधध, क्जसके दौयान बाषा आसानी स ेसीखी जा 
सकती है, __________ कहराती है। (बाषा अधधग्रहण / भहत्वऩूणा अवधध) 

 

54. A language disorder that results from brain damage due to illness, accident, etc. is called 

__________. (aphasia / input) 

फीभायी, दघुाटना आटद के कायण भक्स्त्तष्क ऺतत के ऩरयणाभस्त्वरूऩ होने वारा बाषा ववकाय 

__________ कहराता है। (वाचाघात/इनऩुट) 

 

55. __________ is the smallest unit of language that has meaning. (morpheme / parameter) 

__________ बाषा की सफसे छोटी इकाई है क्जसका अथा होता है। (भॉपेभ/ऩैयाभीटय) 

56. Fixing a point in space for a particular subject, object, location, etc. by using INDEX sign 

is called    __________. (localization / indexing) 

INDEX धचह्न का उऩमोग कयके क्रकसी ववशषे ववषम, वस्त्त,ु स्त्थान आटद के लरए अॊतरयऺ भें एक 

बफ ॊद ुतम कयना __________ कहराता है। (स्त्थानीमकयण/अनुक्रभण) 

 

57. When two free morphemes combine to form a new word, it is called a __________.           

(morpheme / compound) 

जफ दो भुक्त रूवऩभ लभरकय एक नमा शब्द फनाते हैं, तो इसे __________ कहा जाता है। (रूवऩभ 

/ मौधगक) 

58. __________ is the study of use of language in context. (semantics / pragmatics) 

__________ सॊदबा भें बाषा के उऩमोग का अध्ममन है। (शब्दाथा/उऩमोग ववऻान) 

59. The study of language in the brain is called__________. (neurolinguistics / 

sociolinguistics) 

भक्स्त्तष्क भें बाषा के अध्ममन को __________ कहा जाता है। (न्मूयोलरॊक्ववक्स्त्टक्स / 

सोलशमोलरॊक्ववक्स्त्टक्स) 

60. The variety of language that is used in education, government, media, legal situations, etc. 

is called __________ language. (idiolect / standard) 

लशऺा, सयकाय, भीडडमा, कानूनी क्स्त्थततमों आटद भें उऩमोग की जाने वारी बाषा की ववववधता को 

__________ बाषा कहा जाता है। (भूखा/भानक) 

******************* 


